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1 |BEEERE 3 3 0 ol 0.00% 0.00%
2 |BEEEEZTER 4 4 1 1| 25.00% 25.00%
3 |BEEEFMEEEZER 3 3 0 0| 0.00% 0.00%
4 [N FERESR 3 3 1 1| 33.33%| 33.33%
BEEETES 18 19 1 2| 556% 10.53%
6 |BEZER 5 5 2 2| 40.00%| 40.00%
BEH(FEY) 36 37 5 6| 13.89% 16.22%
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1 | REBEZER 6 5 3 3| 50.00%| 60.00%
2 |ERR#ERER 38 37 6 5| 15.79%| 13.51%
3 |Bhk=E 39 38 6 5| 15.38% 13.16%
4 |BTREBEEER 13 12 4 4| 30.77%| 33.33%
5 [BHRAR-BEAFRRESES 5 5 2 2| 40.00%| 40.00%
6 |1TTBRAREER 3 3 0 o 0.00% 0.00%
1 | ARHBEZR 6 6 1 1| 16.67% 16.67%
8 |REZBHER 8 8 2 3| 25.00%| 37.50%
9 |[ERERFRREERES 13 13 6 5| 46.15%| 38.46%
10 |FEL-FETCRE 11 11 8 8| 72.73%| 72.73%
1 [KBRESRZEMEERES 11 11 2 2| 18.18%| 18.18%
12 |RBEREFEKERE 13 13 1 1 7.69% 7.69%
13 |IMRFE U A—EEBES 10 10 3 3| 30.00%| 30.00%
14 |BEAESEEESR 10 10 7 7| 70.00%| 70.00%
15 |IRIREES 14 15 6 6| 42.86%| 40.00%
16 |EREXNKHBER 11 10 2 2| 18.18%| 20.00%
17 |#hEtEEER 15 15 3 3| 20.00%| 20.00%
18 |R=A#mtEE£2) B L XEREEER 14 15 1 1 7.14% 6.67%
19 |R=A# Mt EEE2) IR X EREEER 14 15 1 1 7.14% 6.67%
20 |BEXEEZER 24 24 16 15| 66.67%| 62.50%
21 [EREERESR 279 280 99 101] 35.48%| 36.07%
22 |LWCHMREX R ER RS 13 13 2 2| 15.38%| 15.38%
23 |WCHMEEMEER 5 5 3 2| 60.00%| 40.00%
24 [HEBEEES 13 13 5 5| 38.46%| 38.46%
25 [(FAOERERES 13 13 1 2| 7.69%| 15.38%
26 | VEEELI—EERER 16 16 2 3| 12.50%| 18.75%
27 [XLEtREEES 9 9 1 1 11.11% 11.11%
28 MBI —EERER 9 9 3 3| 33.33% 33.33%
29 |PRAEFEHES 10 11 8 7| 80.00%| 63.64%
30 |HFERSATS—EERER 6 6 2 2| 33.33%| 33.33%
BEH(FEH) 651 651 206 205 31.64%| 31.49%
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5 R3 R2 R3 R2 R3 R2
1 |F5- V& LILRIEREHREE 1 10 3 3| 27.27%| 30.00%
2 ITHREREEER 13 13 3 3| 23.08%| 23.08%
3 |BUFHEEXEERES 10 10 2 2| 20.00%| 20.00%
4 |FEEEMBEIXERES 12 14 2 2| 16.67%| 14.29%
5 (EEEHEERBEIEMEGES 20 22 7 8| 35.00% 36.36%
6 |BEMEESHLr NI —IEERES 1 11 4 5| 36.36%| 45.45%
7 |[BEAR—LAFHERESR 5 5 1 1| 20.00%| 20.00%
8 (MU EIES T ERER 35 33 10 10| 2857%| 30.30%
R EEX R A EERER 12 5|#VALUE!| 41.67%
9 |fREExREERER 12 12 2 2| 16.67%| 16.67%
10 [ TEBEBHEERZES 9 9 5 5| 55.56%| 55.56%
1 | AR RBRE 23 23 3 2| 13.04% 8.70%
12 [EDFLIHKYEZER 7 7 3 3| 42.86%| 42.86%
13 |y ESa—C7 LIRER 7 7 3 3| 42.86%| 42.86%
14 |y B2 —C7 LEMBHINERES 4 4 0 0| 0.00% 0.00%
HAHBEYRI—TSURERER 13 5|#VALUE!|  38.46%
15 [BINTRBRFIRETSVEHEZER 5 5 0 0| 0.00%  0.00%
16 (BETHEBRRIMES 3 3 2 2| 66.67%| 66.67%
17 (I OREEHRHFHERARS 6 6 2 2| 33.33%| 33.33%
BROEXRFEREZER 11 4|#VALUE!| 36.36%
18 [ REEFARGES 15 15 10 10| 66.67%| 66.67%
19 [BlITEREHEERXIERZE 16 16 2 3| 12.50%| 18.75%
20 | FPHHEERRBEEREZES 6|— o|— 0.00%|—
|t 230 261 64 80| 27.83%]  30.65%
4 1~3H7%
ZEHBRE ZHEZER ZERRE
aat (F¥) 917] 949 275| 291]  29.99%] 30.66%
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[EZ]2)ITICE X EEREDOHR

FE ZHERE BRFEHER JIEfs2
2000 (FR12) 5 13.02% 16.97% 27417 30TH
2001 (FFERL13) 13.58% 18.19% 254,730t
2002 (FRk14) & 15.20% 19.78% 264,730t
2003 (FFpL15) 5 18.83% 21.10% 2441730
2004 (R 16) 5 21.26% 21.75% 184,731
2005 (FERL17) 23.01% 22.67% 14617311
2006 (FFRL18) 22.07% 22.45% 20117 34T
2007 (R 19) & 20.64% 22.27% 244317 34TH
2008 (F%20) & 20.97% 23.46% 23{i1.7 34
2009 (FRZ21) F 24.04% 23.83% 17432734
2010 (Fpk22) & 23.80% 24.55% 214317 35™
2011 (FpL23) 5 21.79% 25.11% 234,736
2012 (FR24) F 25.00% 24.11% 1241737
2013 (Fp25) FF 28.74% 24.58% 74/37tH
2014 (Fpk26) 31.18% 25.69% 64i/37T
2015 (FFpL27) 5 31.29% 26.25% 61iz/37mhH
2016 (Fk28) 4 33.48% 27.03% 64i/37T
2017 (FFpL29) 5 32.72% 27.53% 5{i/37mH
2018 (F430) 4 31.21% 27.76% 84i/37t
2019 (FERL31) 4F 31.04% 27.85% 8fiz/37mh
2020(H#12) & 31.49% 28.02% 9fi/37
2021 (RH03) & 31.64% 28.13% 9fi/37M
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